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BEREAI : BENBRATYEPH) REREM 1 107/12/04 1BERS : BRIRWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK

1| BSRHEERR- lE&M 6 2

2 | HSRHEERX- E 9 0

3 | HsRHEERX- BEE 3 2

4 | BSBHEERR- BIEX 0 2

5 | BSRHEERR- HREE 3 4

6 | BSRHEERR- HIBHHR 12 1

7 | BSRREERR- S 7 2

8 | BSBHERR- NS 2 2

B EE B ER-

st - 1~ RABERER TOMEE, & TSEPRE | MARRISITRE
2 ~ IRl (%) = (HIRARKE - REARLE) + HRERE X 100
3 v AChEMMRIRAIERERRIEZL
(1)0-34%(=34.5)&: 618
(2)35—-44% (=44.5) DEE : BAMAMSIHERRNENE - WHRRETHREEHHS -
(3) 45% (>4 4.5) EE : FIRZUKE - UREHFHHREEMNIGE - iSRRXEESNEEGER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAFE 1 E+3RAKR50% - 2@+5RAK100%
5 - FIRRIEERHRIEF B - BRBHRKR—EREIRE - MNFESHK
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BEREAI : BENBRATYEPH) REREM - 107/12/05 1BERS : BREIRWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK

1| BSRHEERR- k1] 5 3

2 | BREERX- | BHEIX 2 2

3 | HsRHEERX- El 2 10

4 | BSBHEERR- EhRE 2 3

5 | BSRHERR- HIBHHR 3 0

6 | BSRHEERR- £ 1 2

7| ESBHEERR- SEX 4 2

8 | BSRHEERR- Lt 1 4

9 | BSRRERX- Ly 2 5

10 | BESEHEEER- B 2 6

B EE B ER-

st - 1~ RABERER TOMEE, & TSEPRE | MARRISITRE
2 ~ IRl (%) = (HIRARE - REARE) + HRERE X 100
3+ AChEMMRIRAIERERRIEL
(1) 0-34%(=34.5)&: 618
(2)35—-44% (=44.5) DEE : BAMAMSIHERRNENE - WHRRETHREEHHS -
(3) 45% (>44.5) EE : FIRZUKE - UEREHFHBHRMEMNIGE - iSRRXEESNEEEER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAFE 1 B+3RAKR50% - 2@+5RAK100%
5 - FIRRIEERHRIEFEIEES - BRBRKR—EREIRE - MNFESHK
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BEREAI : BENBRATYEPH) REREM - 107/12/07 1BERS : BRIRWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK

1| BSRHEERR- k1] 3 5

2 | HSRHEERX- L% 1 6

3 | HsRHEERX- BHES 1 3

4 | BSRREERR- EX 2 3

5 | BSRHEERR- T8 0 6

6 | BSRHEERR- #/R 1 5

7| BSEHERR- | BHBREOX 1 0

8 | BSBHERR- eI 8 4

9 | HSRHEERX- B 4 2

BT s BB AR

fest - 1 - RABRRERS TEKEE, R TSEPRE , MABRISITRE
2 ~ IR (%) = (HMRERGE - REERE) + HWIRERXGE X 100
3 AChEMMHIRAEREREIEL I
(1)0-34%(=34.5)&F:6B-
(2)385—-44% (=44.5) DEE : BIMAMESIHIERRINEINE - WHRRETHEBHHE -
(8) 45% (>4 4.5) DEE : FILRZWHE - UERIFHRMEMINIGE - SRQXEEENRENER

&I
{LENARER - WIKEREEERADEEERARE -
4~ REERAER : BERE (1) 5 BIERE (+) ; BRAT 1B+3FERKR60% > 2@+3RAKR100%
5 - BRRIEERHRIRFEIEL - BRBRKR—EREIRE - LANFESK -




